| dE/d

X estimator 1 |

0.25

0.2

0.15

0.1

0.05

0.95

=
TT T T T T 1T

J_.b@i-llll.

.............................................

.............................................

241496
2.375

Entries
Mean

Std Dev 1.478

Eﬁtries . é41495
Mean 2.375
Std Dev 1.478

.........................

T 2 3 45 6 7 8 9 10

| dE/dx estimator 2 |

0.25

0.2[1

0.15

0.1+

0.05

...........

.......................................................

241496
2.21
l 392

Entries
Mean

Std Dev

Enmes
Mean
Std Dev

1.4

0.95

1 2 3 45 6

7 8 9 10

=—=— DQM_TT__mkFit-DQM_pless_orig
— DQM TT__mkFit-DQM_pless_mod

............................................

CTTITeS FIFIO

6.72
5.597

Mean
Std Dev

241495
6.72

Entries
Mean

. | std Dev

5.597

L

:|Illluuiulll|||”‘
|]]IIHII]III]]||||H

k-

0

10 20 30 40 50 60

7080

0.3f

0.1

0.2

......................................................................

241496
0.389
0.7367

CTIaTeS
Mean
Std Dev

241495
0.389

Entries
Mean

Std Dev 0.7368

1.8

Gl S e e B 50l il |

d

H

k-

0.95%

ol

0

10 20 30 40

56 60 70 80




	Contents
	Page 1


